L3.5 Solving Systems of Nonlinear Equations
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(3,8)and (—1,4)
(7, 0y and (0, 7)

0. -8)

(3, —23)

no solution

(0, =3)and (1, —6)
(2,3)and (—2.3)
(2,6) and (3, 10)
no solution

(2, Hand (—1, =2)
(2,7) and (0, 5)

no solution

no solution

(=2, —2)and (—4, —2)
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about (—4.65, —4.71) and about (0.65, —15.29)
about (—2.59, 3.34) and about (—5.41, 14.66)
(—4, —4)and (—6, —4)

4, -5

The terms that were added were not like terms;
0=—-2x"+34x—140;x =T orx =10

(0, —1); Sample answer: elimination because the equations
are arranged with like terms in the same column

no solution; Sample answer: substitution because the first
equation can be substituted into the second equation

about (—11.31, 10) and about (5.31, 10); Sample
answer: substitution because the second equation can be
substituted into the first equation

(—4, —2) and (4, —2); Sample answer: elimination because
the equations are arranged with like terms in the same column
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